
Gymnasium Pegnitz

Wiederholung JS 6 1. Juli 2007

Runden (Lösungen)

1. (a) auf Einer: 1433, 6, 42
auf Zehntel: 1432,6, 5,9, 42,2
auf Hundertstel: 1432,58, 5,88, 42,18

(b) auf Einer: 5, 5, 54
auf Zehntel: 5,0, 4,8, 54,0
auf Hundertstel: 5,05, 4,85, 53,98

(c) auf Einer: 54, 5, 3
auf Zehntel: 54,0, 5,4, 3,0
auf Hundertstel: 53,98, 5,39, 3,00

2. Dezimalen geltende Ziffern

(a) 28356,344 28400
(b) 23,457 23,5
(c) 0,000 0,000100

3. 2,2995 ≦ x < 2,3005

4. 4,695 ≦ x < 4,705

5. Dezimalen geltende Ziffern

(a) 39357,244 39400
(b) 34,447 34,4
(c) 0,000 0,000 100
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